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PHYSICS SSC-I
SECTION - A (Marks 12)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencii.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

() 1L =
A 1000dm® B 100dnr® c.  10dm’ D.  ldm’
(ii) An interval of 200 5 is equivalent to:
A 02 B 0.02s c. 2x10%s D 2x107%
i) Uniform velocity with which paratrooper comes to ground is called velocity.
A Orbital B. Horizontal C Terminal b. Variable

(iv) A ball is thrown vertically upwards. Its velocity at the highest point is:

A. 10ms™ B. Zero C. 10 ms™2 D. None of these

(v} A string is stretched by two equal and opposite forces 10 N each. The tension in the string is:
A Zero B. 5N C. 10N D. 20N
(i) SI unit of momentum is:

A kg B. ms™ C. kgm D. kgms™

(vii) The number of forces that can be added by head to tail rule is:
A 2 B. 3 C. 4 D. Any number
(viiiy  The orbital speed of a low orbit satellite is:

A Zero B. 8ms~! C. 800 ms ™! D. 8000 ms ™
(ix) Thp=

A 846 W B. 746 W C. 646 W D. 546 W
(x) What should be the approximate length of a glass tube to construct a water barometer?

A 05m B. im C. 25m b. 11m
(xi} Temperature at sun’s surface is:

A 6000 °C B 5000 °C

C.  4000°C p.  3000°C
{xii) Metals are good conductors of heat due to the:

A Free electrons B. Big size of their molecules

C. Small size of their molecules D. Rapid vibration of their atoms
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PHYSICS SSC-I £7)
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x 3=133)

(i) Which safety equipments a school laboratory must have?

(ii) What is a stop watch? What is the least count of a mechanical stop watch you have used in the
laboratory?

(iy ~ Define:

(a) Uniform velocity (b) Acceleration (c) Rotatory motion.
{iv) Differentiate between Speed and Velocity.
{v) How does washing machine dryer work?
{vi) When a gun is fired, it recoils. Why?
{vii) Differentiate between Torque and Couple.

(vii) A man is pulling a trolley on a horizontal road with a force of 200 N making 30° angle with the road. Find
the horizontal and vertical compenents of its force.

(ix) What is meant by gravitational field strength?

(x) Name three devices that convert electrical energy into mechanical energy.

(xi) A car weighing 12 kN has speed of 20 ms~". Find its kinetic energy.

(i) How does hydrometer work?

(xii)  The density of air isl.3kgm'3. Find the mass of air in a room measuring 8mx 5 mx4 m.

(xiv)  Write names of three factors on which evaporation depends.
(xv) What is meant by thermal climbers?

SECTION — C (Marks 20

Note: Attempt any TWO questions. All questions carry equal marks. (2 %10 = 20)

Q.3 a Define Significant figures. Which rules are helpful in identifying significant figures? (06)

b. Explain the term couple. (04)

Q.4 a. State and explain Newton’s Law of Universal Gravitation. (06)

b. Define kinetic energy and derive its relation. (04)

Q.5 a What is the importance of large specific heat capacity of water? Explain. (06)
b. How much heat is lost in an hour through a glass window measuring 2.0 m by 2.5 m when inside
temperature is 25 °C and that of outside is 5 °C 7 The thickness of glass is 0.8 cm and the value

of k for glass is0.8W m™ ' K7L, (04)
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PHYSICS SSC-I

SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting Is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
0] N=

A. kgm B. kgs™> C. kgms™! D. Iq._:;m.S'_2
(i) Which one of the following is the smallest quantity?

A 0.01g B. 2mg C. 1000 ug D. 5000 ng
{iii) A LIDAR gun is light detection and ranging gun.

A Velocity B. Speed C. Acceleration D. Momentum

(iv) A train is moving at a speed of 36 kmh ™. Its speed expressed in ms " is:

A 10ms™! B. 20ms™! C. 25ms”! D. 30ms™!
V) =
P.~P
!
A P.-P B. F-P C S D.
t Pf —P’.

(vi) Newtron's first law of motion is valid only in the absence of:
A Force B. Net force C. Friction D. Momentum

(vii) A force of 10 N is making an angle of 300 with the horizontal. Its horizontal component will be:

A 4N B. 5N C. 7N D. 87N
{viii)  The value of g at a height one Earth's radius above the surface of the earth is:
A 29 B. % g c % g D. %g
(i) The work done in lifting a brick of mass 2 kg through a height of 5 m above ground will be:
A 25] 8 10] c. 50] D. 1001
(x) At sea level, the atmospheric pressure is about:
' A 101 Pa B. 300 Pa C. 300,101 Pa D. 101,300 Pa

(x)  Whatwill be the value of  for a solid for which @ has a value2x10° K12
A. 2x10° K~ B, 6x10°K™! ¢ 8x10°° k™! p. 8x10° K~
(xii) Rooms are heated using gas heater by:

A Conduction only B. Convection and Radiation
C. Radiation only D. Convection only

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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PHYSICS SSC—I A
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed three to four lines. { 11 x 3=233)

(i) On what factors does the accuracy in measuring a physical quantity depend?
(in How can we measure the volume of an irregularly shaped solid?

(iii) Find the retardation produced when a car moving at a velocity of 30 ms™" slows down uniformly to

15ms ! in 5s.

(iv) Differentiate between Scalars and Vectors.

(v) Write three methods of reducing friction.

(vi) Why do passengers standing in the bus move outwards when a bus takes a sharp turn?
(vii) Why can a body not be in equilibrium due to a single force acting on it?

(viii) Find the perpendicular components of a force of 50 N making an angle of 30° with x-axis.
(ix) What is meant by GPS?

(x) Why are fossil fuels called non-renewable form of energy?

(xi) A 50 kg man moved 25 steps up in 20 seconds. Find his power, if each step is™16 cm high.
(xii) Why is plasma called the fourth state of matter?

(xiity  The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20 N.
(xiv)  Write three properties a thermometric liquid should have,

(xv) On what factors does the rate at which radiations are emitted depend?

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 =20)
Q.3 a Derive 2aS = v} —v? (06)
b. Discuss motion of two vertically moving bodies attached to the end of a string that passes overa
frictionless pulley. (04)
Q.4 a. Write a detailed note on determination of a force from its perpendicular components. {06)
b. On reaching the top of a siope 6 m high from its bottom, a cyclist has a speed of1.5 ms.

Find the kinetic energy and the potential energy of the cyclist. The mass of the cyclist and his

bicycle is 40 kg. (04)
Q5 a State and explain Archimedes’s principle. (06)
b. Explain the term Volume Thermal Expansion. (04)

~—— 1SA 1507 (ON) —
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PHYSICS SSC-I
SECTION - A (Marks 12)

(old. jjyﬂlz!ius)
Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
0] The book Al-Manazir was written by:

A Al — Kundi B. Ibn-ul-Haithem

C. Alberuni D. Dr. Abdus Salam
(i) Which one of the following is a derived unit?

A kg B. m’ C. Kelvin D. Mole
(i) Spinning of Earth is a type of ;

A Rotatory motion B. Translatory motion

C. Circular motion D. Vibratory motion
(iv)  kgms?is equal to:

A Joule B. Mole C. Newton D. Watt
(V) An input of 500J has been provided to a machine. If the efficiency of this machine is 45%, then what

will be the output?

A 500J B. 225 C. 2554 D. 2504
{vi) The centre of gravity of a triangu!ar plate is the point of intersection of its:

A Sides B. Arcs C. Medians D. Vertices
{vii) If radius of circle in which object is moving, is doubled then centripetal acceleration becomes:

A Double B. Three times  C. Four times D. Half
(vili)  Workdone will be zero if the angle between force and displacement is:

A 0° B. 45° C. 90° D. 30°
(ix) Sl unit of strain is:

A Newton B. Joule C. Unitless D. Watt
(x} The insect can walk over the water surface due to:

A Surface Tension B. Elasticity

C. Viscosity D. Power
(xj 0°C= °F

A 273 B. 100 C 32 D. o]
(it Water has the least voiume at the temperature of °C.

A 0 B. 4 C. 100 D. 273
For Examiner’s use only:

Total Marks: 12
Marks Obtained:
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PHYSICS SSC-I

(Old Syllabus)
Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION —~ B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines.(11x3=33)
0] What is “Scientific Method"? Name its different stages.

(i) What is meant by scientific notation? Write the following humbers in scientific notation:
a. 0.0045 b. 145.7

{iii) Define Co-efficient of static friction. What is its unit?

{iv) Establish and then state a relation between force and momentum.

(V) If a ball is thrown vertically upward under the action of gravity, then write the three equations
of motion for it.

(vi) Define “Couple”. Find the torque produced in a rigid body due to couple.

{vii) Name the energies produced by food in our body and how these energies help us.

(vii) If #=45° and F, =7N , then calculate the magnitude of F ?

(ix) What is lever? State its principle.
(x) The height of a satellite from the surface of the Earth is equal to the radius of the Earth. What will be

the speed of the satellite if it is moving in a circular orbit? (Given M = 6x10%* kg , R=64x 106m)
(xi) Define "Vectors”. Sort out the scalar and vector quantities from the following:

Temperature, Torque, Weight, Work
(xil) Why are desert nights colder whereas the days are very hot?
(xiii)  What is meant by “Centre of gravity"? Briefly describe how you would determine, by experiment,

the “CG” of a piece of cardboard of irregular shape by means of a plumb line.
(xiv) Explain under what conditions objects float on water surface and get submerged in water.
(xv)  Why is the outer edge of a road kept higher than the inner edge at a turn?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q.3 a What is meant by “Wheet and Axte"? Find its mechanical advantage. (5)
b. Volume of the gas enclosed in a cylinder is 2m’> . What would be its volume if its temperature
is doubled by keeping pressure constant? (3)
c. Define the units of 'work’ and ‘power’. (2)
A4 a If two bodies of masses ' m;’ and ‘ m,’ are connected with two ends of a string, which is passing over a

pulley in such a way that * m,’ moves vertically downward while' m,” moves on the horizontal smooth

surface towards the pulley. Find the values of Tension and Acceleration in it. (5
b. A lead shot of mass 5g is fired with an air gun. If the velocity of the shot is 60ms ™!, what is its
momentum? 3
c. Distinguish between speed and velocity. 2)
Q.5 a State and explain “Boyle's law”. Also draw its graph. (5)
b. The volume of a block of wood immersed in water is 900 ¢n2’ and the block is floating
in water. What would be the buoyant force of water on it? (Density of water =1000 kgm_‘" ) (3)
c. Define Kinematics and Random Error. (2)
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